ORXTIL—TEMYSIERBEIILIRE

FifE R H 05404138 MEgNASY Fd)LT7a—R
=44 KE 4 OUT | IN | GR | HDCP | NET "% B L K £ OUT | IN | GR | HDCP | NET "%
B s x5 45 | 46 | 91 | 22.8 | 68.2 51 |#AIl  f4E 44 | 52 | 96 | 22.8 | 73.2
2 BN BEZB 48 | 44 | 92 | 22.8 | 69.2 52 \BH FTE 46 | 44 | 90 | 16.8 | 73.2
3 |EED &)k 40 | 43 | 83 [ 13.2 |1 69.8 53 |ILE E=x 58 | 50 (108 | 34.8 | 73.2
4 |fx E# 38 | 43 | 81 | 10.8 | 70.2 54 |tkiE EE 45 | 45 | 90 | 16.8 | 73.2
5 |kA & 40 1 39 | 79| 8.4 |70.6 55 |fniE &7 48 | 41 | 89 | 15.6 | 73.4
6 |7l BE 48 | 47 | 95 [ 24.0 | 71.0 5 K B 49 | 46 | 95 | 21.6 | 73.4
7 |[IUEB #EER 40 | 43 | 83 [12.0 | 71.0 57 |&H HEER 44 | 45 | 89 | 15.6 | 73.4
8 MR ™A 41 | 42 | 83 [12.0 | 71.0 58 %% B 39 |38 | 77| 3.6 73.4
9 Bl BEEF 46 | 48 | 94 | 22.8 | 71.2 5 (IR && 49 | 46 | 95 | 21.6 | 73.4
10 ;IR =xA& 42 | 40 | 82 [ 10.8 | 71.2 60 AKX HF— 36 | 41 | 77| 3.6 | 73.4
11 |*FH # 45 | 48 | 93 | 21.6 | 71.4 61 B EEX 47 | 48 | 95 | 21.6 | 73.4
12 |%&A F— 46 | 47 | 93 |21.6 | 71.4 62 |f2H BRE b2 | 48 |100 | 26.4 | 73.6
13 |Heh 3B 47 1 52 |99 |127.6 |71.4 63 |=F E 45 | 43 | 88 | 14.4 | 73.6
14 |l —4% b1 | 48 | 99 | 27.6 | 71.4 64 |Bfg &HX 36 | 40 | 76 | 2.4 | 73.6
15 | 5= M 42 1 38 | 80| 8.4 |71.6 65 |EfE FOfE b5 | 45 100 | 26.4 | 73.6
16 B0 X8t 42 137 19| 1.2 |71.8 66 TR B b3 | 47 100 | 26.4 | 73.6
17 &% & 43 | 42 | 85 [ 13.2 |71.8 67 (LA &EE 40 | 41 | 81 7.2 173.8
18 |3kEA FFE 41 | 44 | 85 [ 13.2 |71.8 68 |{kiE 15ER 50 | 49 | 99 | 25.2 | 73.8
19 \BE 3 41 150 | 91 [19.2 | 71.8 69 [HE E— 45 | 42 | 87 | 13.2 | 73.8
20 ‘FRE fERE 49 | 47 | 96 | 24.0 | 72.0 0 T A 42 | 45 | 87 | 13.2 | 73.8
21 |B#E R 49 | 41 | 90 [ 18.0 | 72.0 n et g 44 | 43 | 87 | 13.2 | 73.8
22 \BIR FE— 48 | 48 | 96 | 24.0 | 72.0 12 AEH RER 46 | 41 | 87 | 13.2 | 73.8
23 |[RE SEhE 40 | 43 | 83 | 10.8 | 72.2 13 |NHE B 51 | 53 (104 [ 30.0 | 74.0
24 f8® &7 40 | 37 | 71| 4.8 |72.2 14 WEHET FL 46 | 52 | 98 | 24.0 | 74.0
25 E & 40 | 43 | 83 [ 10.8 | 72.2 5|8 BN 43 | 43 | 86 | 12.0 | 74.0
26 ¥ B—H# 50 | 45 | 95 | 22.8 | 72.2 76 |RTH & b2 | 45 | 97 | 22.8 | 74.2
27 |IUF ALk 44 | 45 | 89 [ 16.8 | 72.2 77 |28 = 47 | 44 | 91 | 16.8 | 74.2
28 |[lLN FEif 49 | 51 (100 | 27.6 | 72.4 18 |J\X #ni& b1 | 46 | 97 | 22.8 | 74.2
29 | #X 38 | 44 | 82| 9.6 |72.4 19 |[FE Em 39 | 46 | 85 | 10.8 | 74.2
30 |HEE FE 48 | 46 | 94 | 21.6 | 72.4 80 K 1E=E 42 | 42 | 84 | 9.6 | 74.4
31 RN B 41 | 47 | 88 | 15.6 | 72.4 81 |[EAX R{E b1 | 51 [102 | 27.6 | 74.4
32 [ EFO D 43 139 | 82| 9.6 |72.4 82 % EHE 39 139 |78 | 3.6 |74.4
33 |tk IE 39 | 42 1 81 | 8.4 1726 83 =B #EA 43 | 41 | 84 | 9.6 | 74.4
34 |l #IE 45 | 48 | 93 1 20.4 | 72.6 84 |EHE X 45 | 57 (102 | 27.6 | 74.4
3 |FHE EZ 38 | 37 | 15| 2.4 172.6 85 |fk@k X 44 | 45 | 89 | 14.4 |74.6
36 I 1E 45 | 42 | 87 | 14.4 | 72.6 86 |{Efk =A b5 | 46 |101 | 26.4 | 74.6
37 WmT ™E 39 | 42 1 81| 8.4 1726 87 |[lLA & 39 |38 | 77| 241|746
38 &R Rk 46 | 46 | 92 | 19.2 | 72.8 88 |FEH ZEE 45 | 50 | 95 120.4 | 74.6
39 BRIl EE 42 | 44 | 86 | 13.2 | 72.8 89 |FNIl EfE 47 | 47 | 94 119.2 | 74.8
40 |E& ZBB 45 | 41 | 86 | 13.2 | 72.8 90 |ZY¥E #F0sh 45 | 43 | 88 | 13.2 | 74.8
4 | Ha 51 | 41 1 92 |1 19.2 [ 72.8 91 [# E—HB 50 | 50 100 | 25.2 | 74.8
42 R B 46 | 40 | 86 | 13.2 | 72.8 92 |8 b2 | 54 106 |31.2 | 74.8
43 | T8 44 | 41 | 85 112.0 | 73.0 93 | KiE R 42 | 40 | 82 | 1.2 |74.8
44 vk B 42 | 37 | 19| 6.0 |73.0 94 EiE MHiLF 49 | 56 (105 | 30.0 | 75.0
45 —FHm BN 42 | 43 | 85 [ 12.0 | 73.0 95 |luA #£8 48 | 51 | 99 |24.0 | 75.0
46 (k@ IERI 43 | 42 | 85 1 12.0 | 73.0 96 AR =& 53 | 52 105 | 30.0 | 75.0
47 \KHE [E¥ 42 | 48 | 90 | 16.8 | 73.2 97 = # 49 | 50 | 99 |24.0 | 75.0
48 A% B 38 | 40 | 78 | 4.8 |713.2 98 | %Kx b2 | 52 (104 | 28.8 | 75.2
49 \grE K 43 | 41 | 84 110.8 | 73.2 9 HK = 43 | 43 | 86 | 10.8 | 75.2
50 |FRERif 46 | 44 | 90 | 16.8 | 73.2 100 {E4 K #ik 43 | 43 | 86 | 10.8 | 75.2
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ORXTIL—TEMYSIERBEIILIRE

FifE R H 05404138 MEgNASY Fd)LT7a—R
=44 KE 4 OUT | IN | GR | HDCP | NET "% B L K £ OUT | IN | GR | HDCP | NET "%
101 7R HE 45 | 47 | 92 [ 16.8 | 75.2 151 |HLE HA 45 | 44 | 89 [ 12.0 | 77.0
102 =L iF 45 | b3 | 98 [ 22.8 | 75.2 152 | KE %= 48 | 47 | 95 [ 18.0 | 77.0
103 | #x% &= 46 | 58 (104 | 28.8 | 75.2 153 ¥t = 48 | 53 (101 [ 24.0 | 77.0
104 RIS FEF 40 | 45 | 85 | 9.6 | 75.4 154 v E & b8 | 55 (113 [ 36.0 | 77.0
106 Rk IE— 47 | 44 | 91 | 15.6 | 75.4 155 [lUA 184 49 | 46 | 95 [ 18.0 | 77.0
106 | k% =IAEB 46 | 45 | 91 | 15.6 | 75.4 156 |E# %L7 b1 | 44 | 95 [ 18.0 | 77.0
107 |luKR {ET 56 | 53 |109 | 33.6 | 75.4 157 | Bk 49 | 51 (100 | 22.8 | 77.2
108 |#2H JHF 49 | 42 | 91 | 15.6 | 75.4 158 [fIm & 47 | 47 | 94 1 16.8 | 77.2
109 | K# @& 38 |41 | 79| 3.6 |75.4 159 | mfE— 48 | 52 (100 | 22.8 | 77.2
110 \He I 48 | 48 | 96 | 20.4 | 75.6 160 7T iFRE 59 | 47 (106 | 28.8 | 77.2
1M1 | KE & 49 | 47 | 96 | 20.4 | 75.6 161 [#K Et 45 1 49 | 94 |1 16.8 | 77.2
12 (MR & 42 | 42 | 84 | 8.4 |175.6 162 |NEF 184 45 1 49 | 94 |1 16.8 | 77.2
113 |€+F EX 49 | 47 | 96 | 20.4 | 75.6 163 ;B8 Ex b1 | 43 | 94 | 16.8 | 77.2
114 &R &KX b5 | 53 |108 | 32.4 | 75.6 164 \Bp#f =58 46 | 42 | 88 | 10.8 | 77.2
115 |fEF #& 47 | 48 | 95 [ 19.2 | 75.8 165 | FkE [E—BR 49 | 57 (106 | 28.8 | 77.2
116 |#&& LUME 48 | 41 | 89 [13.2 | 75.8 166 (k% 150 48 | 51 | 99 | 21.6 | 7].4
17 | Fx 50 | 45 | 95 | 19.2 | 75.8 167 | BB = 44 1 43 | 87 | 9.6 | 7].4
118 '&H ERX 45 |1 38 | 83| 1.2 |75.8 168 | KIEZ Rh=E b3 | 52 (105 | 27.6 | 7].4
119 i #X 46 | 49 | 95 [19.2 | 75.8 169 &KX 18 48 | 50 | 98 | 20.4 | 77.6
120 |3EK HiZ 48 | 46 | 94 [ 18.0 | 76.0 170 |ZH FH 49 | 55 (104 | 26.4 | 77.6
121 |8 #H—ER 53 | 53 |106 | 30.0 | 76.0 171 K% 5T 48 | 43 | 91 | 13.2 | 77.8
122 | AH & 45 1 49 | 94 [18.0 | 76.0 172 57K &= 48 | 49 | 97 | 19.2 | 77.8
123 BB BX 41 141 |1 82| 6.0 |76.0 173 | A8 3hX 54 | 49 103 | 25.2 | 77.8
124 |85 BAW®& 52 | 47 | 99 | 22.8 | 76.2 174 |#2lL Z 47 | 44 | 91 | 13.2 | 77.8
125 | T =R 46 | 47 | 93 | 16.8 | 76.2 175 |BF FRE b1 | 46 | 97 | 19.2 | 77.8
126 (%% #UA 44 1 49 | 93 | 16.8 | 76.2 176 =X f#— 45 139 | 84 | 6.0 |78.0
127 |B&%  #id 46 | 47 | 93 | 16.8 | 76.2 177 |8l &i& 43 | 53 | 96 [ 18.0 | 78.0
128 &K 1L 54 | 45 | 99 | 22.8 | 76.2 178 |[EXR &=k 49 | 47 | 96 | 18.0 | 78.0
129 | & & 56 | 55 |111 | 34.8 | 76.2 179 €11 B b5 | 53 (108 | 30.0 | 78.0
130 | &% EiE 41 | 40 | 81 | 4.8 |76.2 180 [I59 H& 48 | 48 | 96 | 18.0 | 78.0
131 &£k #5H 49 | 49 | 98 | 21.6 | 76.4 181 | BE &HNK b4 | 47 101 | 22.8 | 78.2
132 |=M SEAfE 43 | 43 | 86 | 9.6 | 76.4 182 |Hth = 49 | 52 101 | 22.8 | 78.2
133 |48 BE 52 | 58 |110 | 33.6 | 76.4 183 |F9ith F— b4 | 53 |107 | 28.8 | 78.2
134 | BX HEH 48 | 50 | 98 | 21.6 | 76.4 184 [chil # b | 46 |101 | 22.8 | 78.2
135 | 2T ®mX 49 1 49 | 98 | 21.6 | 76.4 185 |HK IEEA 44 | 44 | 88 | 9.6 | 78.4
136 |#&3 FAX 49 | 43 | 92 | 15.6 | 76.4 186 1A & 43 | 45 | 88 | 9.6 | 78.4
137 | EH & 42 | 49 | 91 | 14.4 | 76.6 187 |k#F {E—BB b1 | 43 | 94 | 15.6 | 78.4
138 | X% &Z 44 | 47 | 91 | 14.4 | 76.6 188 | B&% 47 | 47 | 94 | 15.6 | 78. 4
139 | =28 & 47 | 44 | 91 | 14.4 | 76.6 189 [iEd IEA b5 | 50 |105 | 26.4 | 78.6
140 [ EIR =E 47 | 49 | 96 | 19.2 | 76.8 190 A —= 42 | 51 | 93 | 14.4 |78.6
141 [lLA #F b5 | 47 102 | 25.2 | 76.8 191 lLA @R 47 | 45 | 92 1 13.2 | 78.8
142 8K 43 | 47 | 90 | 13.2 | 76.8 192 | #LE ZE b2 | 46 | 98 | 19.2 | 78.8
143 | ZKX BEE 51 | 51 (102 | 25.2 | 76.8 193 &%k =H1E 48 | 50 | 98 | 19.2 | 78.8
144 1LER 1E— 44 | 46 | 90 | 13.2 | 76.8 194 |/INE RE 43 | 49 | 92 1 13.2 | 78.8
145 |;EH =EB 42 | 48 | 90 | 13.2 | 76.8 195 |FEAR R{E 53 | 50 (103 |24.0 | 79.0
146 | 71IR - %A 45 | 51 | 96 | 19.2 | 76.8 196 (28 M= 48 | 49 | 97 |18.0 | 79.0
147 2K FEKX 48 | 48 | 96 | 19.2 | 76.8 197 bk & 58 | 57 115 136.0 | 79.0
148 | #LE #Hz 43 | 41 | 84| 7.2 |76.8 198 |®#hE M= 50 | 53 (103 |24.0 | 79.0
149 &% B= 50 | 51 |101 | 24.0 | 77.0 199 HR # 56 | 47 (103 |24.0 | 79.0
150 |RA BUE 54 | 53 107 1 30.0 | 77.0 200 |#rfe ER 48 | 54 102 | 22.8 | 79.2
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ORXTIL—TEMYSIERBEIILIRE

FifE R H 05404138 MEgNASY Fd)LT7a—R
=44 KE 4 OUT | IN | GR | HDCP | NET "% B L K £ OUT | IN | GR | HDCP | NET "%
201 | F EB b3 | 54 |107 | 27.6 | 79.4 251 |R IE& 65 | 55 |120 | 32.4 | 87.6
202 |EH #z b3 | 48 |101 | 21.6 | 79.4 252 |EER  IRF 65 | 60 |125 | 36.0 |89.0
203 8 —Kk b8 | 48 |106 | 26.4 | 79.6 253 |iLF/H fHA 60 | 66 |126 | 34.8 | 91.2
204 | RE FEf 49 1 50 | 99 [19.2 | 79.8 254 kB E=E 60 | 68 |128 | 36.0 | 92.0
205 18R F— 52 | 53 |105 | 25.2 | 79.8 255 |[AE =X 60 | 68 |128 | 36.0 | 92.0
206 |&% Eafe b8 | 53 |111 | 31.2 | 79.8 256 ;& EX 61 | 69 |130 | 36.0 | 94.0
207 Bk RF 55 | 49 |104 | 24.0 | 80.0 257 |HE & 63 | 68 |131 | 36.0 | 95.0
208 |BAX fEEE 67 | 49 |116 | 36.0 | 80.0 258 W2l BF 70 | 66 |136 | 36.0 |100.0
209 [#5H #= 59 | 57 |116 | 36.0 | 80.0 259 FiK 1= 72 | 67 |139 |36.0 |103.0
210 BB HE 59 | 56 |115 | 34.8 | 80.2 260 \tkiE R 78 | 80 |158 | 36.0 |122.0
211 | & 2 x 50 | 47 | 97 | 16.8 | 80.2 261 Ll & 85 | 75 (160 |36.0 |124.0
212 |[L# #— b2 | 56 |108 | 27.6 | 80.4

213 |5+ & b4 | 54 |108 | 27.6 | 80.4

214 \ER g 46 | 49 | 95 [ 14.4 | 80.6

215 | &KX EZ2 56 | 51 |107 | 26.4 | 80.6

216 | =R B 54 | 53 |107 | 26.4 | 80.6

217 | X% & 59 | 58 |117 | 36.0 | 81.0

218 |¥7H & 57 | 60 |117 | 36.0 | 81.0

219 BBk FHF—m 57 | 59 |116 | 34.8 | 81.2

220 |ZFIH F 55 | 61 |116 | 34.8 | 81.2

221 MLt FH 55 | 55 |110 | 28.8 | 81.2

222 |8 X 54 | 50 |104 | 22.8 | 81.2

223 | EH FHE 47 | 50 | 97 | 15.6 | 81.4

224 |)\& YrRd 49 | 58 (107 | 25.2 | 81.8

225 |BEA =B 45 | 55 (100 | 18.0 | 82.0

226 | KE "% 52 | 54 |106 | 24.0 | 82.0

227 ¥¥H RB 56 | 60 [116 | 33.6 | 82.4

228 |ithH [EE 54 | 49 {103 | 20.4 | 82.6

229 fRE B 56 | 51 |107 | 24.0 | 83.0

230 |[EEH ¥ 54 | 59 |113 | 30.0 | 83.0

231 |k = 54 | 53 |107 | 24.0 | 83.0

232 Bk FHE 56 | 56 |112 | 28.8 | 83.2

233 |RH B 60 | 58 |118 | 34.8 | 83.2

234 TR Bz 56 | 62 |118 | 34.8 | 83.2

235 | 4B HX 64 | 56 |120 | 36.0 | 84.0

236 |pE 5 b8 | 60 [118 | 33.6 | 84.4

237 A&t HE 61 | 60 |121 | 36.0 | 85.0

238 |FH ZFZ 57 | 64 |121 | 36.0 | 85.0

239 HF E— 64 | 57 121 1 36.0 | 85.0

240 REl AR 52 | 60 112 | 26.4 | 85.6

241 |FKR EX 52 | 66 (118 | 32.4 | 85.6

242 |=/vEH 5LBA 58 | 59 117 | 31.2 | 85.8

243 |/fRK Eth 62 | 60 (122 | 36.0 | 86.0

244 thft E— 62 | 60 (122 | 36.0 | 86.0

245 MR EER 61 | 61 122 | 36.0 | 86.0

246 [t BA 61 | 61 122 | 36.0 | 86.0

247 |BEH RS 56 | 63 119 | 32.4 | 86.6

248 |lLK EBAR 53 | 59 (112 | 25.2 | 86.8

249 JeiA E—ER 62 | 61 123 | 36.0 | 87.0

250 | KB ®” 53 | 45 | 98 | 10.8 | 87.2
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